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Without loss of generality, we can let r be on the z-axis, viz, ˆrr z . Then due to 

symmetry, we only have to evaluate the z-component: 

 

 

 

 
 

 
 

1/ 2
2 2

2
2

1/ 20 0 2 2

2

1/ 20 2 2

0
2

1/ 2
2 2

1
2

1/ 21 2 2

2

2

ˆ ˆ cos

2 cos

cos
ˆ sin

2 cos

cos
ˆ2 sin

2 cos

cos
ˆ2 cos

2 cos

ˆ2         cos
2

ˆ2

da da
r R Rr

d d R
r R Rr

R d
r R Rr

R d
r R Rr

R d
r R Rr

r

R

 










  




  




 




   








 

  


 


 


 

 
 





 

 







r z

r r

z

z

z

z

z
 

 
 

 

 

 
 

 

 
 

 

2

2

2

2

2

2

2

2

2

2 2

1/ 2

2 2
2

2 2 1/ 2

2 2 1/ 2 3/ 2

2

3/ 2 2 2 1/ 2

2

12        2
2

1
ˆ2

4

2
ˆ 2

2 3

1
ˆ

3

R r

R r

R r

R r

R r

R r

R r

R r

R

Rr d r R Rr
Rr

r R
R d

R r

r R
r

r R
r



  



 




 


 



















  


 
 

 
    

 

 
   

 



z

z

z

 



       

   

   

3 3 2 2

2

3 2 2 3 3 2 2 3 2 2

2

2 3 2 3 2 2

2

2

If  

ˆ 1
ˆ

3

1
ˆ                 3 3 3 3 2

3

1
ˆ                 3 3 2

3

                 

r R

da R r R r r R R r R r
r

R R r Rr r R R r Rr r r r R
r

R r r R r r r r R
r

r











  
            

 
          

 

 
       

 




r

z
r r

z

z

3 32
ˆ 2

3

4 4
ˆ                 

3 3

r r

r 

 
  
 

 

z

z r

       

   

   

3 3 2 2

2

3 2 2 3 3 2 2 3 2 2

2

2 2 2 2

2

2

2

If 

ˆ 1
ˆ

3

1
ˆ                 3 3 3 3 2

3

2 1
ˆ                 3

3

2 2
ˆ                 

3

r R

da r R R r r R r R R r
r

r r R rR R R R r Rr r R r R
r

R r R R r R
r

R R
r











  
            

 
          

 

 
     

 





r

z
r r

z

z

z

3

3

4
                 

3

R

r




 
 

 r

 


